cuckooland:

LIVE IN THE WOW

Bellamy Grey Upholstered Bed

ASSEMBLY INSTRUCTIONS

THIS BED IS FOR DOMESTIC USE
AND STRICTLY NOT FOR CONTRACT USE.

Page 1 of 5




Parts list @

Hardware list

Label | Picture| Description |Qty | Label | Picture| Description Qty
A < Single Plastic Cap | 32 F Washer M8 12
B < | Doble Plastic Gp | 16 G ® Nut 4
C Metal U Backet | 2 H Bolt M8x65 4
D Bolt M8x20 8 I Bolt M6x20 4
E =) Spring Washer 4

Tool list

Label Picture Description Qty
T-1 ™\ Allen key M5 1
T-2 AN Allen key M4 1
T-3 O Spanner 1

Page 2 of 5

www.cuckooland.com | +44 (0)1305 231231




Step 1

D 8pcs| F 8pcs
Bolt M8x20 | Washer M8

Page 3 of 5

www.cuckooland.com | +44 (0)1305 231231




E ©4pcs| F &4pes| G @ 4pcs| H @m 4pcs
Spring Washer | Washer M8 Nut Bolt M8x65
C ZDCS I @m4pcs
Vetal U Bracket |[Bolt M6x20

Step 4 A < 32pces B @ 16pcs
Single Double
Plastic Cap| Plastic Cap

Page 4 of 5

www.cuckooland.com | +44 (0)1305 231231






